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V Semester B.Com. Examination, February/March 2024
(NEP Scheme) (Freshers)
COMMERCE
5.6 B : Digital Marketing (Vocational — 1)
(Common for both B.Com. and B.B.A.)

Time : 2% Hours Max. Marks : 60
Instruction : Answer completely either in English or in Kannada.

SECTION - A

Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)
CRRTTEAR BT LVT-TF e LUBOR. T,30R0m1 HVTTF I QTR BOBNTTY
BRoQTIZT.

1. a) State any two email marketing tools.
O3NTYTIE NTRO [0S TWRBFEION TOBTRYIY, SA.

b) Expand SEO and SMM.
SEO 38 SMM &0, 2504,

¢) What is traffic ? Give an example.
201398 DOTTERD ? WOTD YVTRTTE BRR.

d) Name some of the Google Adwords ad extensions.
305y Google Adwords 259&e0080 QITHNTS, TROA.

e) Give the meaning of conversions.
TOBSFINS OPFRIY VeB@.

f) What is conversion tracking ?
SO 33, BN 0BT ?

g) Mention any two some bidding options.
C3RRYTe TR VRO SORNRTRY, oG eDA.

h) Give the meaning of campaign.

T,28000 OTFDIY, Ve,
P.T.O.
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SECTION - B
Answer any three questions. Each question carries four marks. (3x4=12)

BRFTETL BT B RVR VB0, T,803R0%0 TJ 050 T, SOBNTRY
BROOTIZT.

2. Explain the problems faced in digital marketing.
RWBO* BRFF LIS, ATOOROSTOR AZOX,NYS), HF[OR.

3. Discuss the recent trends in SEO.
SEO 39 a8eus T3 SNy wdrA.

4. Differentiate between Adwords and Adsense. .
Adwords 02 Adsense IEOXT 55%3&#3’% S920.

5. Which skills do you need to have to become a digital marketing professional ?
RRIS* TREFLION® I ETTTINED Qe OINE TIY,RIRY TRoQTLIR ?

6. Define social CRM. Explain its significance in the context of web analytics.
FoR7238 CRM &) 539,839,0%. T503* Q3 ¢irdodd Bomyir B, 0T @SB3R DR

SECTION-C
Answer any three questions. Each question carries twelve marks. (3%x12=36)
OINR)TOTTR TR g%ﬁ@ﬁ eVB0N. B,303P0T a'g)%crin a‘sgldda aoﬁﬁ@a’%
TROOTTT. o

7. “Content marketing is a way to engage your target audience and grow your
network of leads and customers” — Do you agree with this statement ?

QRO TR EIoNT VY 100 T, e3TORY, ENBNRERTLY FB) IR Ve Ny S Te*e
WOBY 710, TBETI), WAL WOmd BRNFWINT. Ve 83 BEFFOD), &) 3eT ?

8. How can business measure the Return On Investment (ROI) in social media
marketing campaigns ?

AORRUE VRG> BRFFLUONTIY, Bedcd Hoeds coynsy (ROI) &,@HoND
Bert ePaDWIOTD ? i

R N N
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9. Write a short note on :
Reg, LTS WHCWO
a) YouTube Marketing
YouTube =58 eson®

b) Linkedin Marketing
Linkedin =53¢ e3on®

c) Instagram Marketing.
Instagram =8¢ e3one.

. 10. Describe different bidding techniques in Google Adwords, including Auto,
CPC-based, CPA-based and CPM-based.
estdne, CPC-55008, CPA-85008 3030 CPM-85008 Sedod Google
AdwordsS9, 213, WRON B03,NYSY, TR

11. Define Web Analytics. Briefly explain the needs and importance of Web
Analytics.

B0 LT SR, 599,300, N. BU* STIOLT, S ©ng,3nsh == T, B0 INIRY
RogZemon WSOR0.
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
COMMERCE
5.6A : Goods and Services Tax — Law and Practice (Vocational — 1)

Time : 2%2 Hours Max. Marks : 60
Instruction : Answers should be written either in English or in Kannada.

SECTION-A
NN — R

Answer any 6 sub-questions. Each sub-question carries 2 marks. (6x2=12)
SRR 6 ema‘—@airi@ﬁ QUZ0R. F,S ww—@a}"ﬁ 2 e508NeD.
1. a) State any 2 features of CGST Act.

CGST @oiaao:b O3IRYTIOTTR 2 e:-i EANTRY, SPR.

b) What is composite supply ?
R0oo3ReRE FPT T 0TI ?

c) State any 2 persons not liable for registration.

~ Speoredn wILRTTQE canRTe 2 [ INTI) S9A.

d) What is taxable event under GST ?
GST o> 8ReDE) 3oRRATYHEE BoTIF HoTBesd ?

e) What is Provisional Assessment ?
SRR TP, RRTT DOTITERD ?

f) What is Anty-dumping duty ?
BoLon® RTBREH RO0T L0TBEID ?

P.T.O.
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g) What is zero rated supply ?
SRS, BOT FOTF 20T ?

h) Expand GSTN and GSP.
GSTN =02 GSP 03), 2704.

SECTION - B
QT —

Answer any 3 questions. Each question carries 4 marks. (3x4=12)

CIRETR 3 BINOK IO B3 TR 4 LoD,

2. Write a note on formation of GST council.
GST @Qp‘s m@ﬁéw wi ésauﬁﬁ 200000,

3. What are the objectives of customs duty ?

0 B0 m%esﬁ@a’% S93.

4. Nagaraj a registered dealer is a trader in Hyderabad and purchased goods
from Kerala for ¥ 3,00,000 and has paid IGST @ 18%. After manufacturing
he has sold half of the goods in the State of Telangana for ¥ 6,00,000 plus
GST @ 18% and the rest of the products to a unit in SEZ in Hyderabad for
5,00,000. Compute the net output tax payable.

& ¢ ToNTRes SReomICiT W9, WO FTTNPT'T W), 33,T0 TV BB
3e0v oot 00T ATBONESY de. 3,00,000  8pomER0md 18% Co8 IGSTOD,
QeRTOTYT. FAIROFD F0TT VW BTFTW, FTFNITY, Fworwes T, B
dr. 6,00,000 &2 18% GST ©305Q =500Thzas i@ ¢v9s BORNGR), 33 T00R0"s
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5. A dealer effected the following sales during the 1 quarter 2022 — 23.

a) Invoice No. 191 dated 1-5-2022 for X 48,000.

b) Invoice No. 192 dated 11-5-2022 for ¥ 54,000.

c) Invoice No. 193 dated 1-6-2022 for ¥ 61,000

d) Goods worth T 8,000 against Invoice No. 192 were returned on 15-7-2022.

All the above goods were sold in the course of interstate trade.

Calculate the Taxable Turnover and IGST payable if the rate of IGST is 12%.

2022 - 23 B 1 Fe 3, BRATEY, ) VBTTW 33 FINT SRTILNTT) TRRTT.

a) RoBOWES Fosd, 191 OTe0s 1-5-2022 Te. 48,000.

b) =TBOWes, Foal, 192 Dvoos 11-5-2022 gr. 54,000.

C) ﬁdﬁaﬁ%:&‘oﬁd 193 HTo0s 1-6-2022 Tse. 61,000.

d) XTHTE, moas, 192 © e"bci)t:?; dn. 8,000 m’aoﬁw xosoned 15-7-2022 Sowd

%08BOARTINT.

FoeOF e, OBRVRY, ORTHEFTS, [R0H [PBSNG. 07t PRI
Reomoed IR IGST @ 12% Sy,

6. From the following determine the Time of Supply.

SI. No. Date of

invoice
E 1-10-2023
2. 2-11-2023
3. 4-11-2023
4. 5-12-2023

Date of Goods made Receipt of
Removal available to recipient Payment
3-10-2023 4-10-2023 25-11-2023
- 3-11-2023 15-12-2023

4-11-2023 6-11-2023 ___ 1-10-2023

- 7-12-2023 /757 %IN1-2023
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3% 39N &, 50eoNY TYod, Fod ATWICVT), VGFOA.

3,50 noB eﬂe.i 3o m,TFon a::gn’e;ag{
:30335 atvplerd AT plel-] wnxma

1 1-10-2023 3-10-2023 4-10-2023

2 2-11-2023 - 3-11-2023

3. 4-11-2023 4-11-2023 6-11-2023

4, 5-12-2023 - 7-12-2023

SECTION -C
QLN — X

Answer any 3 questions. Each question carries 12 marks.

cIReyTRrce 3 BE RN e3os. B3 BIR 12 wosrih.

7. What is GSTN ? Explain the vision and mission of GSTN.
GSTN Q0T3e0 2 20 T8, WO SOTIZ), WIOA.

8. Explain the general features of CGST Act.
CGST soodyodd FORIT, T LN DBOR.

OO

mdéaﬂaﬁgt
233 eaam%

25-11-2023
15-12-2023

1-10-2023

1-11-2023

'(3)(1 2:36)

9. Mr. Kiran a dealer in Bangalore effected the following transaction during the

month of August 2023. Compute the amount of GST payable.

i) Product A sold to a dealer in Mysuru @ 18%

ii) Product B sold to a dealer in Belagavi @ 5%

iii) Product C sold to a dealer in Chennai @ 0%

:
4,00,000
1,650,000

3,50,000 /5 SALES Y
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iv) Product D sold to a dealer in Kolkata @ 18% 7,10,000
v) Product E sold to a dealer in Pondichery @ 12% 13,50,000
vi) Product F sold to a dealer in Delhi which is exempt 19,00,000

vii) Product G is exported to Singapore. The rate of GST
notified to this product if sold in India is 12% 2,40,000

| viii) Product H sold to SEZ in Kerala, @ 0% 11,50,000

o ix) Product | sold to Registered dealer in Karnataka @ 12%  14,80,000

3¢ 305 2.2 WIONEROT ReOT® BNTY, B3 FINT [,BTOONTSY, &N, 2023 0,
SBATTT. 93 GST Sgwos.

oR.

) A TROWIR B3P0 mdmaﬁ B[RO @ 18% 4,00,000

ii) B @ROTIY 23¢meedcd 39,3090 &R0 @ 5% 1,50,000

iif) C ==Y, aSa;'ww 9, T00N WROT) @ 0% 3,50,000

~ iv) D SRS, 30z 39,3901 SR0T, @ 18% 7,10,000

|
[ V) E SR8, ymoededod 29,3007 WO @ 12% 13,50,000
I
; vi) F 3033 35900 539,501 IROT), BT TS FTIYTO 19,00,000

vii) G BRBR) AOTRT0E, OF) RARBOINGS. B3 BRI
POZEE, ZR0BS GST 030 12% 2,40,000

viii) H SR, ea¥ oow, B SEZ g RO @ 0% 11,50,000

ix) | TROTR), BIOFE3BE SPEOTONE 0, TON RO, @ 12%  14,80,000




NP - 335 5 A 0 |

10. From the following details, compute the value of taxable services and GST |
liability for the month of September 2022. (All the services are rendered within |
the State).

3
1) Services by way of private tuitions 90,000
2) Building given on rent for Commercial purpose 75,000
3) Advertisement in print media 4,00,000
4) Services provided to foreign diplomatic mission 3,00,000
5) Secretarial auditing 45,000
6) Services relating to supply farm labour 1,00,000 @
7) Speed post services 45,000
8) Services rendered to UNO 1,40,000
9) Fees to act as a liquidator 4,10,000
10) Value of free services rendered to friends 1,60,000

B FENT HWTONY FT00O0T BORNRATTEIT FeSny m’aoﬁm% @=03) GST
mﬁmaécdaaigt :Je,—-"idouc‘ 2022 § FOROLB/OWD (e, ﬁea?ri@d&‘gt c'az:scﬁ A= atec]

BOIRNT).
oR.
1) 37N TS Fed FYXT 90,000
2) ,[EB08 WUT BTN VeRT FRRET R 75,000 )
3) =05, BRG,TTY 23080 4,00,000
4) DTed TRI0E,F AR ROIT Fednsd 3,00,000
5) ToDFTSFOD eﬁﬁwameﬁﬁ 45,000
6) T 3 & TOFT %@%ﬁﬁ ROWORRTIOZ AT Fedrigh 1,00,000
7) 33en 2028 FeSned 45,000
8) UNO 7 3Qas Fedrieh 1,40,000
9) D3ZEeLsT* BN TCOFABFLATE T Y, 4,10,000
10) ﬁqe&ﬁ&mﬁ ROAT 233 oSN e3¢
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11. A consignment is imported by air. CIF price is 2000 Euro. Air freight is 550 Euro
and insurance cost is 50 Euro. Exchange rate announced by CBEC as per
customs notification is Euro = ¥ 55.14. Basic customs duty payable is 10%.
Social welfare cess is 10% and IGST is 18%. Find out the value for customs

purpose and total customs duty payable.

2,003 TR D 0L DBRTT WoROF SR Rnadeord. CIF w3 2000 cdodee.
QBRI Torwesd 53, 550 03o0dee OB TR e, 50 cdodiee. BT ORRRWIOD
7598 CBEC $B0ealid 23003 T8 1 o308ee = 8. 55.14. 3000 3357 2008 10%,

@)
PRSP ie:a?ssa:&m“ 10% =022 IGST 18%. ﬁuwc: m%eéa'%ﬁ m’a@sa@t FOTRO&LBOWD
=R TomeRIemr 23D, 2T moswas.g{ FOBROHECOAD.

o)
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V Semester B.Com. Examination, February/March 2024
(NEP) (Elective) (Freshers)
COMMERCE
DSE M1 : Retail Management

Time : 2%2 Hours Max. Marks : 60
Instruction : Answer should be written in English or Kannada only.
SECTION - A/Qwen— &

1. Answer any six sub-questions. Each sub-question carries 2 marks. (6x2=12)
CIRNTYTETR T YVT-T,INTI, YUS0R. &3 QOT-T3 1§ 2 ©oBND.

a) Define retailing.
WQT T3, TOTIRY, 39, 5Ty A

o™

b) State any two functions of retailing.
QT 5, TWITT CIRTYTITTR TR TODFNIIY, S9A.

c) What do you understand by Business plan ?
=,WH0 03RS Q0TTEI ?

d) Give the meaning of market area analysis.
BRTITH T, BB VP LR[OI SFFA.

e) What do you understand by Grid layout ?
N,z QF,A OTTER ?

f) What are the components of retail marketing mix?
QT WRTLTE 90T, £ LOINTD IR ?

g) State the meaning of price sensitivity.
S RoFeTIS T CHFHI, SPA.

h) Expand : i) EDI ii) QR system.
2R0% wdowD : i) EDI ii) QR ﬁaﬁ%

SECTION - B/axwy»n — 0

Answer any three questions. Each question carries 4 marks. (3x4=12)
CRPTTTR S BI RN LvZor. B8 TI N 4 SOFND.

2. Write a note on wheel of retailing.
WD F00ES 138,T RAWOTT Wi 3T WD

P.T.O.
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3.

Briefly explain the stages of consumer buying decision process.
eRogieen 3RDE AFS m,8,03000 BOSNYR) ToFT[N DWOA.

. Briefly explain the types of store layout.

BT BV DT, FT DOINTI), WWOR.

. Briefly explain the factors to be considered in value pricing.

aﬁja@a; B3¢ APFORODFN MBOVTLIETIT L0BNTT), D[OA.

. Write a note on E-retailing.

DT, TR WQT 399,5000T Wil LTS WICWD.

SECTION — C/amn - &

Answer any three questions. Each question carries 12 marks. (3x12=36)
CIRRTT3IR ST T NN LUS0R. B3 TI N 12 808nD.

2

10.

11.

Explain the types of retailing.
A 00]e) 5, T0T WIBNTI, TR

. Enumerate the factors to be considered in preparing a business plan.

aéaaw oa’u;:t‘.‘?x,én'.ucs.mg=t %%m‘@mmﬁ Ne0RIeTT e;aosmia% D0,

. Briefly explain the factors influencing location of a retail store.

WQS TRoE ToVR FF VOR[N T, 39w WeTOT S0BNY 7] Fo§THamoN LT[0A.
Write a note on decision related to selection of goods and delivery of services
in retailing.

BT IRTLRTY, XTBINY S8, Tone e VST FOLOHAT IFF TBT, 0B
L3 63 WTHowo.

Give the meaning of retailing and elaborate the legal aspects in retailing.
BQT 9,700 SPFIIY, V@ Tone YT T3, TITT FoSRTIIT BoINTRY, W[OA.
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
COMMERCE
DSE F1 : Financial Institutions and Markets (Elective)

Time : 22 Hours Max. Marks : 60

Instruction : Answer completely either in English or in Kannada.
SECTION - A

Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)
@ 3N CIRYTITTR 6(HT) HVT-T,ZNert LBOR. B8 VT-TBI 1t QTR (2) oM.

1. a) What is Financial Institution ?
BEITORD ﬁoﬁ@r{fﬁa DOTTEI ?

b) State the four components of Indian Financial System.
LRTEe0) TEITIRD wz%%oia T, BOBNTIY, SRR

c) Define Money Market.
BT TRTOTEICIRY, 339,85, QA
d) What is Capital Market ?
WORTDY SRTIFE 20T ?

e) Give the meaning of online trading.
ST ET LEeRON'S OPFHZY, SR

f) What is initial public offer ?
ARTFRIT 309, PEOT BTOS D0TTEI ?

g) What is foreign exchange ?
QTS DT DOTTEI ?

h) Expand CSDL and NSDL.
CSDL morie NSDL &), 504,

P.T.O.
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SECTION - B

Answer any three questions. Each question carries four marks. (3x4=12)
FINT CIRPYTTTR R[oet T, ZNen wo30R. B3 T,J 1K Fow) BoBNL.

2. Show the structure of Indian Financial System in the form of chart.
200803 TEITORD azsaﬁ@ odd dzﬁﬁod:dgL WL F CRTTE SpedA.

3. Briefly explain any four functions of capital market.
WOBRwY aﬁmd:ﬁéic:cb CIRTYTDTTR TOLY, FOOFNIFS), o3 TamoN DIOR.

4. Discuss in brief the features of primary market.
T3, 0T SRTBEICD OFEINTTY, HOFTN QTOR.

5. State the functions of SEBI.

RROD TOODF N, WIAD.
6. Write a short note on NSDL.
NSDL urfi‘ OO LTI WTOD.
SECTION-C
Answer any three questions. Each question carries twelve marks. (3%x12=36)

39T CAREITRTT 3 T B Or 30k, BT 12 o8,

7. Give the meaning of financial system and explain briefly its components.
TEoTIRD BHI 0D STHEHIT Ve Tone BTWT STWINYY, Fod TN DFOR.

8. Distinguish between capital market and money market.
0BV TRToE], Tod Beor R S AT 39, B3y, SeD. @

9. Define secondary market. Explain the various functions of secondary market.
DSead mmﬁ%aiaaigl 39,809, D% QSR mmﬁ%od: VNG FODFNTI), DTOR.

10. Explain the advantages and limitations of primary market.
T3, 0T BRTOFE 03D BRVER FY VENTTY, DTOR.

11. Explain the reasons for popularity and problems of housing finance.
N® BITIRT WS, 0N o0 S TSOR NI, =03

.:"" S AT
Qe 20 LEa™,
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
COMMERCE
DSE A1 : Indian Accounting Standards — | (Elective)

Time : 2%2 Hours Max. Marks : 60

Instruction : Answers must be written either in Kannada or English.

SECTION - A

Answer any 6 sub-questions. Each sub-gquestion carries two marks : (6x2=12)

1. a) Expand |.LA.S.B. and G.A.A.P.

b) What is IFRS ?

c) What do you mean by the term inventories ?

d) What do you mean by impairment of assets ?

e) Give two examples to investment property.

f) Write any 4 examples for short term employee benefits.
g) What is current asset ?

h) What are non-current assets ? Give two examples.

SECTION - B

Answer any three of the following. Each question carries 4 marks : (3x4=12)
2. Explain the features of IFRS.
3. X Ltd. obtained a loan of ¥ 60,00,000 on 1*' April 2022 from Vijaya Bank, to be—._

capitalised as under :

Construction of company building ¥ 20,00,000 I3 =
Purchase of plant and machinery ¥ 15,00,000 e o
Working capital required ¥ 10,00,000 \ B
Purchase of vehicle ¥ 15,00,000

In March 2023, construction of company building was completed and plant and
machinery was ready for its intended use. The total interest charged by Vijaya
Bank for the financial year ending 31" March, 2023 was X 7,20,000. How do

you treat the total interest charged on loan ?

P.T.O.
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4. Briefly explain the different types of employee benefits as per Ind As-19.

5. Bharath Ltd. sells membership for ¥ 15,000 per year 100 customers, with on
option to renew at a discount in 2" and 3™ years at ¥ 12,000 per year. Bharath
Ltd. estimates an annual attrition rate of 50% each year.

Determine the amount of revenue to be recognised in the first year and the
amount of contract liability against the option given to the customer for renewing

the membership at discount.

6. From the following particulars of M/S Ravinandan Ltd., prepare a statement of
profit and loss A/c for the year ended 31 March, 2023 as per Ind AS-1.

Revenue from operations
Printing and stationery
Advertisement

Salaries and allowances
Interest on long term loans
Goodwill written off

Materials consumed

Discount allowed

Interest on investment received

Depreciation on fixed assets

SECTION - C

_§
1,00,000

2,000
4,000
6,000
4,500
1,500

35,000

1,000
1,500
2,000

Answer any three questions of the following. Each question carries 12 marks :

7. A) Explain the benefits of Accounting Standards.

B) Explain the limitations of Accounting Standards.

(3x12=36)

—~ '_—T\
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8. A) Tejatraders purchased a plant from R Ltd. on 30-9-2022 with a quoted price
of ¥ 200 lakhs. R Ltd. offered a trade discount of 1.5% and GST payable is
12% on the quoted price. Teja traders incurred 2% on transportation cost
and 3% on erection cost of the quoted price. Pre-operative cost amounted
to T 2 lakhs. Estimated life of the plant is 8 years. Residual value of the plant
T 20 lakhs.

i) Calculate the original cost of the plant.

ii) Calculate depreciation for first year (SLM).

B) Tarun Co. has a machine that originally cost ¥ 35,00,000 with accumulated
depreciation of ¥ 5,00,000. The market value of the machine is ¥ 30,00,000,
the cost of dismantling is ¥ 1,00,000 and the direct selling costs are
¥ 2,00,000. The value in use as determined by management is ¥ 27,50,000.
The remaining estimated life of the machine is 5 years and estimated residual
value at the end of the life of machine is ¥ 2,50,000.

i) Calculate impairment loss for the machine.

i) Calculate the depreciation charge on the machine after the impairment
loss has been recognised.

9. A) PQR Co. constructing power generation plant. This project requires totally
¥ 12 crores, which are raised as follows :
a) T 4 crores from IFCI for 10 years @ 11% interest rate.
b) ¥ 2 crores of loan from HDFC bank for 6 years @ 10% interest rate.
c) T 2 crores of loan from SBI bank for 4 years at 12% interest rate.
d) ¥ 3 crores from 10% debentures for 5 years at 5% discount.
e) T 1 crore as overdraft from Corporation bank @ 4% interest rate.

f) Out of total borrowed fund X 5 crores are kept in HUDCO bank as short
term deposit for 6 months @ 5% rate of interest.

g) IFCI bank loan is borrowed through consultation and the consultancy
charges are 2% of total loan amount.

Calculate total borrowing cost in accordance with Ind AS-23.
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B) Pujara Ltd. incurred the following short-term employee benefits for the
year ending 31 March 2023.

i) Paid ¥ 10,00,000 to the employees who involved in the administration ‘

work.

if) Paid advances of ¥ 5,00,000 to employees.

i) Company hold the payment of ¥ 3,00,000 relates to 2 employees due to
some technical reasons.

iv) Paid ¥ 20,00,000 wages to the workers who are directly involved in the
production.

v) Paid ¥ 15,00,000 to the workers who are engaged in the construction of
plant.

Show the accounting treatment for the above employee benefits
according to Ind AS-19 for the year ended 31s March 2023.

10. A) Monika Ltd. is engaged in manufacturing and selling of designer furniture.
It sells goods on extended credit. Monika Ltd. sold furniture for ¥ 40,00,000 |
to a customer the payment against which was receivable after 12 months |
with interest at the rate of 3% p.a. The market interest rate on the date of
transaction was 8% p.a. 1

How will Monika Ltd. recognise and present revenue for the above transaction
accordance to Ind AS-115 ?

B) Calculate cost of wine accordance to Ind AS-2 from the following

information :

Particulars Amount()
Cost of Grape 3,85,000 - |
Purchase of other raw material 1,80,000
Freight inward 72,850
Labour charges 2,55,835
Purchase of storage drum (it cannot be re-used) 1,85,000
Storage cost of ageing of wine 1,38,750
Salary paid to managing director 8,25,000
Salary to marketing manager 3,85,000
Salary to wine tester 2,50,000

Charge for display of wine in outlet Aied\:2/7 18,620
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11. A) Prepare a statement of profit and loss account for the year ended 31! March

2023 as per Ind AS-1.

Sales

Purchase of raw materials
Commission received
Carriage inwards

Return outwards

Opening stock of raw materials
Closing stock of raw materials
Rent received

Salaries to employees

P.F. contribution to employees
Interest on Bank loan

Interest on debentures
Sundry expenses
Depreciation

Income tax paid

Excise duty

Consumables

Factory expenses

4
16,00,000

7,00,000
3,00,000
1,00,000
40,000
1,80,000
1,00,000
40,000
2,00,000
50,000
30,000
30,000
10,000
40,000
75,000
50,000
80,000
60,000

B) From the following prepare a statement of financial position on

31t March 2023 as per Ind AS-1.

Debit 4

Tangible assets 12,00,000
Intangible assets 4,00,000
Current investments 4,00,000
Other non-current investments 4,00,000
Trade receivables 5,00,000
Stock 8,00,000
Cash 2,00,000

39,00,000

Credit 3
Equity share
Capital 10,00,000
General reserve 6,00,000
P&L Alc 6,00,000
Non-current liabilites  10,00,000
Current liabilities 7,00,000

39,00,000
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QN — D

CIRYTITTR &TY YVT-T,J NN LVZOR. F,8 GVT-T,J 1 T BOBTD (6x2=12)

1. @) . A.S. B. %% G. A. A. P. Sanes) agos.
b) IFRS Qowdesd ?
C) AT 0TTEI ?
d) S0 DWFORRYRINTE 0TTEO 2
8) BRBE AT AVR CURECHENYR) VB -

f) eeRmhob wwde,en T 0dReEERTNTIR CCRFYTITTL ToL, YVTTTBERTI), 1
228000, |

g) ®AT SA D0TTE ?
h) ©2380 F2OMTO CRFYT) ? ITE LVTHHTE 3RA.
MPR—-
39NS ARTTR 3 BINOR cu3oR. B3 BB 4 wosrizd : (3x4=12) |
2. IFRS 8 e8sonvs) Q=08. |
3. D008 1-4-2022 Do X FOTRO30 T30 mﬁoéaod % 60,00,000 ng = .
DR 3 FPNTOZ WOBTP TR T -
BOTTVOID ‘u’agjcécd Qare? T 20,00,000
Q3002w ezsEsean® Dol X 15,00,000

TOROCNVE WOBTIPT 8:9555553" < 10,00,000

mo®mz oOed T 15,00,000

325" 2023 B FOTICD B3T3 LIAIDF £ FREDF THR0GT3 0T C300ER, EBFTED YVTOIRENE,
ATNT. 0908 31-8-2023 T 033 e300 23,05° 7,20,000 ¢ 2G0T ANOTRAT.
AR &2e8 ANDTRATO widd WEOT Ter T, STORN0 ?
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4. Ind As-19 T T30 Q0T 06805 VTiR,eN B, 03ReSNTR) FodTemoN w=dR.

5. %30z OawedeE ABF I SHeg X 15,000, 100 1, BBOT 359003 RIS, 2 e 302
3¢ IRFMVY,BIRFE T 12,000 OCIROS0IY, INBOR 030D, BT, ok
O0EE* B8 TRF 50 B, 3TITR), ToAF T ST TORTY, 0T BREIT. BeTL
TR, ITERIET ST B8 B dCIROWSCDY, BB I[), SBORLD
Mo, TBON QAT 50300 DTT 2.TOBE BRBMLOFOD HRIFI, AFFOA.

6. 31 3UNT DROREOT OF0Y 31-3-2023 T €503, BHTOTI® VOIS BOTICH
ot-RB e Ind AS-18 T 508 30508

<

B, THITOOT WOT BTWOD 1,00,000

R0, 29 TFY TN, 2,000

230% T 4,000

e 0= PN 6,000

DEFOFRE FOT 00T WA 4,500

T VBT BT 1,500

B3, mosdN, M evsiodeen 35,000

QERT AReR 1,000

BRRE 0edT W&E 1,500

QTR 0D eI 0B, 2,000

PR = 2

39N CARPTOTAR [ty BFNOR cv3on. B3 TFK 12 wosnch : (3x12=36)
7. A) 8 T3, BRSNS B,0des3nv), BosTamn JEOR. AEBLETS

B) 833, RRITORRY WY SO, (575 2% %8
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8. A) 30-9-2022 Jocdh e 50’ R Ltd. Qo3 ¥ 200 o7 mewsaa Bdodronr
000E) =Y DVOeDATT. R Ltd. 1.5% T, 359,590 00IR00E0DRY, De@ey,
12% GST evgiesdam eidod e TmRERITNT. Serdo w30, ToOTh w0edT
Wedod 2% I, 70 323,302 3% ST, AR D 352, ,I0ATT. FoOIRFITECD
PR TFR 2 OF, 0I0ZT 0w BeITITH 8 JRFTWD. OO T eved IR,
720 o8,
FOROEROWD

i) od03,T Boww =,
i) Eece SRS RTe S50 (SLM).
B) Sobs dne. .00 003[) BRoOX) BE0 Jee 38 T 35,00,000, K03 Xee o
¥ 5,00,000. c303,3 R0 FPe; T 30,00,000, 2 @omw 3, 1,00,000
03 3 wroowss B, T 2,00,000. ITFBEN AGFOATI WHECHODL P,

X27,50,000. 003,33 0933 £50T39280 23eITI[HORD 5 STHETIED T2 33 23603000
BRFCDE) 0T VT m’aa:ﬁ@ ¥ 2,50,000 &N03.

i) odogd mowre SHBI SFmes.
i) Gorreded STP DT ST 0033 e BB Boom) Sggs.
A) PQR go. 95nf 9 3§ ¢v3atiae F0. 83 cdeendn Bogeearson T 12 doeed
BN, 08, VRIS, 33 é@maﬁors’ zﬁ%%ermgd
a) IFCI coom 10 ﬁﬁi—"f%ﬁ% u%cﬂdﬁbocﬁ T 4 3ces.
b) HDFC ,05°03 6 SmFg, 10% WRECH0E T 2 §06ts 0. -
¢) SBI e3,05°00T X 2 &petd o 4 IRFE 12% we 0.
d) 5 &&F @ 5% 503700ER 10% Rdodorom T 3 dretd.
e) TEPEFTETT’ 239,05°08 @ 4% WRTSDOTI 1 8eed wITk =T,

f) w0, SORLo TES AQRYES, T 5 gretinemy HUDCO 3,056, enmpod
SesStdodnn 6 Son @ 5% BOBE, BORCAOST.

g) ARRSEReES BB BT VT BwewE Bewes IFCI 139, 08° TOBI) HOBLD wcgm
2830 OV T RRTY 2% sse.a,ad Z3AL

Ind AS-23 drodrt W), OB ﬁz'g‘dcj 6@@@( cifmdaaad DR
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B) 31 s3wes's 2023 & ZeSiesds m&'t-'%b TP OQLUE® B3 FINT LLRTHOD
VTR, ENTPT B, C3REWINTRY, WRTERORT.
) ©BYS FooF B ERBATOI J°v3or I 10,00,000 TORERLNT.
i) evdpennen sSwonEmen X 5,00,000 TOWERTONG.

iii) 30y 3008, FoTLANYOTION 2 mdr%mri@ﬁ xowodaw T 3,00,000
TS CETY, BOTIU0 aoa&uad&e%gd

iv) SUBRBEIoDY, Fedmon SRBNRERORTS FodF50r T 20,00,000 HeSTSw),
™ TORSRTING.

V) AT IRRF LB, ERWNT 52007307 0 X 15,00,000 s0TETSHNT.

31 Se =3 2023 %&@éﬁmow a&ﬁrﬁlnd AS-19 R es30m0ea550N 230e ST TR, N
=R’ ﬁmmﬁ@a’% O,

10. A) FEped50 Oer, BFT0° et eemEseants BodRdE X BR0LRY, FRBNAZRORT.
2T D3 3, RFRY ITBNTRY SR0LS SRWZT. et DT 20T 11, BBV
340,00,000 3 2ee0em30eaneia), S00ts SRR, ST KT woEdodd) 12 Sond
T0=BT 3% THAFT WRTTTBRODN A LFORWBITD. [eToUT DTI0TTOT [WRTFE,
W B0 8% wodFT SNA).

0O Dot Ind AS-115 ﬁdeﬁabmmmﬂ RRCTD DEITEE e.-scmoci::amgL 3en
rOToERIT 0B TR TRRIT 2

’ B) 39N 50%30200% Ind AS-2 7§ e&50mdeassoN 3 3° B3R, S5 SRa.

QSR 303 3)

o,80% 343, . 3,85,000

230 8o, TR DOEO v .‘ -‘ )'-"";7';-}"1,80,000

L¥REDTN BB ‘. // 72,850
5

TRl L e
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DIASLE ebe%ﬁ@o

-10-

Bes00Em BT 0D (FTO L8 INBIRATT)

oo velania) ddas Bes)0m0 ﬁzgd

wﬂa:u%ae QT TTON TOWEAT BoWS

mwﬁ&i a;sm%wsaﬁ Dows
% 830°0R owy

REFSEFRE, 7 308 B,

WOV

BeIRRINES D0ED

TBS B

WHRONES S2DF

T BRAT FTK
BRI STYS TR
RHTONT 03 oI
TR ESTIOD

Rowe BT

$ORNOT3 ANV =osn

233505‘ 0T w@é

O
2,55,835
1,85,000
1,38,750
8,25,000
3,85,000
2,50,000

18,620 »

11. A) Ind AS-1 B Z,50, DI0% 31-3-2023 T €038 oy3-IF, 3593000, BoAROA.

3

16,00,000

7,00,000
3,00,000
1,00,000
40,000 o
1,80,000
1,00,000
40,000
2,00,000
50,000

30,000




TR 1

O T,T W

Q3BT SNDF

PN

S0 FON TOWEAT),
e50T0 RO0T
wwajrae@smﬁo

FOATOF S F

B) 3 39803 S350&30200% 31-3-2023 Tt TesToRD ﬁ&)ﬁ&é T3 IO, SCIROA

(Ind AS-1 B520) :

e INLE S ¢
LR = 12,00,000
PSTRQT &R 4,00,000
WO TRBIN 4,00,000
Y ohYT TRREND 4,00,000
mémd@ocﬂ WBLeTE @oRNL 5,000,000
RTB TR 8,00,000
[N 2,00,000
39,00,000

NP - 330
30,000
10,000
40,000
75,000
50,000
80,000
60,000
3 Qe T
BRI, Redh worewe  10,00,000
ma‘baaié A 6,00,000
oot~ T, 8003 6,00,000
wdoben IpRmdd  10,00,000
5D0J) BRTBMOB 7,00,000
39,00,000
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V Semester B.Com. Examination, February/March 2024
(Freshers) (NEP Scheme)
COMMERCE
DSC 15 : Principles and Practice of Auditing

Time : 22 Hours Max. Marks : 60

1.

Instruction : Answers should be written completely either in English or in
Kannada.

SECTION -A

Answer any six sub-questions. Each sub-question carries 2 marks. (6x2=12)
a) Who is an Auditor ?

b) What is audit planning ?

c) What is internal check ?

d) Mention any two types of audit reports.

e) What is verification ?

f) What is embezzlement of cash ?

g) Who can appoint the auditor of a company ?

h) What is code of ethics of auditor ?

SECTION - B

Answer any three of the following. Each question carries 4 marks. (3x4=12)

2.

3
4.

Write the objectives of auditing.

. Briefly discuss audit strategy.

State the qualities of a good auditor.
What are the objectives of valuation of assets ?

What are the contents of audit report ?
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SECTION -C
Answer any three of the following. Each question carries 12 marks. (3x12=36)

7. Discuss the steps to be taken by the auditor before commencing a new
audit.

8. Explain internal check with regards to wage payment.
9. Explain the duties and liabilities of a company auditor.

10. As an auditor of a company, how do you value the following ?

i) Fixed Assets
ii) Current Assets
iii) Intangible Assets

11. Discuss the audit procedure of hotels.

R e
EATA Y ) S
1. CRFmente 8t wB-B IR egor. I8 NT-TyF 1§ 2 03N, (6x2=12)
a) 6%35693.@@5 Q0WT AT ? @

b) tﬁﬁuaaamezjm o3Re%s 0T3ED ?

C) ©030%F T,8W0HI 0BT 2

d) CSRR)TTTR HTRE) Beeod SR TITONTI, LugesdA.
e) TWOdeOS Q0TBE ?

f) SN TToTE3ReR DoTBed ?

g) BoBAO SEHOFREGETRY, CIRTO FeIWBID ?

h) &E=08peT30 Ded K03 womdeRd 2
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PR —
CIRRTRTER St BBROT K0308. Bé T 4 osns. (3x4=12)

2. dﬁﬂﬁamedﬁcﬁo QOT3 eBRTIY, WBOWO.
3. ©R& 03,3 FodTamoN WesrR.
4. IR I TOZRGET MOrndRy S9x.
@ 5. 19 P, RRTIB PuBeBrid IR 2

6. ©RE* JoOOD JTDR BRF)) ?

PN — 2
C3RR)TOTWTR Boedd apje; non evdon. 3 T3 1t 12 e08nsd. (3x12=36)

7. Bed SHT0ERGISOR,, T,CopRT HRTed SEHosReRvty ImbinyLens
B,Z0NUR 232,

8. Fe3T TR F0woDAToB 50308 @awocjasabq 3FR.
9. BoTR SETOZRTET T b T FORMOSNTS HTOR.
®o. w.om gomtnat egmosneon aey o sensvsy S PO, ¢BORD0 ?
i) 2ATRNLD
(s3] o
i) 2ooRme
i) BPFosenBem AEoned

11. J[neederny dﬁswaziraeqim QTITDR), WIFA.
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
COMMERCE
DSC 14 : Income Tax Law and Practice - |

Time : 2Y2 Hours Max. Marks : 60

Instructions : Answer should be written completely either in English
or in Kannada.

SECTION - A
NTN — D
Answer any six sub-questions. Each sub-question car_ries two marks. (6x2=12)
B FINT cdnYyesce 6 QVT-T,J NN VBOR. T8 LUT-T,J 1t ST LOBNTL.
1. a) Define assessment year.
S0 TR 539,809, DR.
b) State any four exempted incomes U/S 10.
U/S 10 3 cdnm)momtn S, 30T DTORSRAYTRS GTONBJI), SYR.
c) What is the difference between ordinary resident and not ordinary resident ?
ARTITED QETRA WIB) TOTOTEIVYTS VIR0 FRINT 3,39, MBed ?
d) Who is specified employee ?
QOB TPF0 0TIV cINTO ?
e) What is municipal value of house property ?
20T ©3 0D PTRYP [P, 20T ?
f) What is gross annual value ?
283D SONFT WPY, DOTTED ?
g) What is the provision U/S 80U ?
U/S 80U 3,300 80 QopInsesd 2

h) What is TDS U/S 192 ?
U/S 192 %558 TDS 0mdesd ?

P.T.O.
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SECTION - B
R - W

Answer any three questions. Each question carries four marks. (3%x4=12)
CIRTYTOTTR ST [, INT YWEOR. T8 FByJ 711 T, VOO,

2. Explain any four canons of taxation.
CIRTITTRL FL), oM AT 0BRTTY, QVTOR.

3. State whether the following incomes are agricultural or non agricultural income.
a) Income from agricultural land situated in Srilanka.
b) Dividend received from a company engaged in agricultural activity.
¢) Income derived from sale of seeds.
d) Income from sale of plants from nursery.
e) Income from land used for bricks making.
f) Profit on sale of agricultural land.
g) Income from agricultural land situated in Punjab.

h) Income from dairy products.

83 BINT oM T FIONT SWORHRe BT wéwmocbﬁa TOWORATT
e3TTROIVTRC SPRO.

a) 8,050 B,& PRRCWOT WOT BTIORD.

b) 3 23305638 SEROT FOTICWOT THEW oLI03.

C) BT 2062 TRTOLQOT NPT BT,

d) SRFOODY, NBNRYR), TeTES BRRTO0T WOT STCD.
e) 23R00E). faﬁﬁ BO3RORORTOOT WOT &3TTOD.

) 8 & PR SRoN0T LT o1,

g) BoLRRTYTON 3 RNOC0T WOT STWICD.

h) Soe0 ¥0Z3 00T WoT STWaCk.

4. Mr. Anand a citizen of India leaves India for the first time on 10t October 2022.
He stayed in England for 6 months on medical training. He returned to India

on 10! April 2023. Determine his residential status for A.Y. 2023 — 24.
$0. SFOTTTT TS TTTING) BRTY 200 Q008 10 @ﬂra e20° 2022800
o0 LA, ﬁraehcrd’ 3,03, 8€03 etf?j"é?r‘ﬁ faoﬁoz:sﬁai@ 535 Somie B Eﬁ@mm S

2023 - 243, Dqs’rm
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5. Mr. Mohan retires from Private Ltd. on 30-6-2022. He gets pension of
Rs. 5,000 p.m. upto 31-12-2022. With effect from 1-1-2023 he gets 70% of
pension commuted for Rs. 60,200. He also received gratuity Rs. 2,00,000.
Determine the exempted and taxable pension of Mr. Mohan for the Assessment
Year 2023 — 24.

)¢ FReTI*TITY, DF20% 30-6-2022 TowD 508N FOTICWOT I ZTNTOTT.
QT0% 31-12-202203T1 AF)¢ DT0TR0T T)¢ Sonsd 5,000 TRTOWNRTSY
0wWeICINN TEOTOZYT. OTo0F 1-1-23 Tomd Iy wowsedodd Je. 700D
TWOBEFE &y0e3e3cdNNY Te. 60,200, TEOTWT. w31 2,00,000 TRTONFSY,
Mo, 20E300RN BEOTWSIT. )¢ [FReT TR0 01 IRF 2023 — 248 FOWORATOS
307t DTOWS B FONRAVTEIT 202363 FRTTTY, TORILRAWD.

6. Tax liability of Mr. Harish is Rs. 1,50,000, for the F.Y. 2022 — 23. Calculate
advance tax installment for the F.Y. 2022 — 23.

d,¢ BOCT*TR BEFFTRO DA 2022 — 23 %ﬁé"c‘jﬁ Towe TR or. 1,50,000 ezen
umm@ﬁo@ﬁdﬁgd. DEITORY Wawe 2022 — 23 ﬁd FowoHATo3 Joonz 3on

FOBONT), FOTRIERROWD.
SECTION-C
QLN = 2
Answer any three questions. Each question carries 12 marks. (3%x12=36)

CIRPTETR Baecd BFREA GuB0R. B3 BT 12 wosrieh.

7. Sriram submits the following particulars of his income for the financial year
2022 — 23. Calculate his gross total income for Assessment Year 2023 — 24
if he is residential status is

a) Ordinary resident

b) Not ordinary resident

c) Non resident.

1) Income from house property in Sri Lanka Rs. 80,000

2) Income from business in Mumbai received in Punjab Rs. 2,00,000

3) Dividend from domestic company received in Chennai Rs. 10,000

4) Share of income received from HUF Rs. 14,000

5) Income from agriculture earned in Nepal Rs. 25,000
)

6) Profit from business in UK controlled from India Rs. 60,000




NP — 328 -4- N O

7) Past untaxed foreign income brought to India during previous year Rs. 20,000
8) Interest on deposit with SBI in Bangalore Rs. 15,000
9) Royalty received in India for the services rendered in Japan Rs. 60,000

10) Interest on POSB A/c in Hassan Rs. 2,000

11) Profit on sale of plant in Nepal Rs. 8,00,000

&,e0030TR TEaFRRS WRF 2022 — 23 § BoroHITOF 83 FINT B&SCDIR TR
STI03T BTB[IY, VeRTOTYT. BT

a) ARTITED DOACIRNTN
b) momTemYT ammmam{aﬁ .

C) &R LPTSADTINTIN 2om WwF 2023 - 24 %ﬂ:ﬁowo@mﬂoé 2830 SO
SRYTR), TOBBACWD.

1) &c00HRTYTOT T SROWOT WOT &wodd dr. 80,000
2) F002000eHATOH aﬂz@a@dw e&mo‘bﬁﬁg‘ TOPWONY %eﬁ&ﬁmﬁcﬁ gr. 2,00,000
3) Z¥ed 30T @aapaoefa:ﬁ;:’% za’z:i S, %eﬁ@:‘dmﬁd dwe. 10,000
4) &0TR BB BOLOOWT BwoDT ¢ien dr. 14,000
5) SeTeTYTOT B, 80000T MPAT ST00d TR. 25,000
6) LoTBRT Jo0S, F@ﬂ@fﬁmd o30.3. B, WIO0T NPT word Tr. 60,000
7) %00 ITFT SONNRSIED wmcma‘c'sgt mdééﬁ TeTRD BRI, TN de. 20,000
8) SBI 3on$odT Bewed 00T u%d@ 15,000 .
9) BEIIQ, TOXTE et LRUBHE Foert TEeHSIATS 8. 60,000

10) TIRITYTOT @028 LVPTI0D 330D 0O W& Tr. 2,000

11) SeTdTYTOT m@aﬂd RRTER0T Worm el Tr. 8,00,000

8. Mr. Sudhir is an employee of ‘XYZ’ Lid. in Hubli. He supplies the following
particulars of his income for the previous year 2022 — 2023. CSALE

1) Basic salary Rs. 21,000 p.m.

2) Dearness allowance Rs. 10,000 p.m. forming part of salary
3) Bonus 2 months basic salary NS S
4) Education allowance for two children Rs. 700 per month per child NGE”
5) Children hostel allowance for his two children at Rs. 500 per month per child
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6) House rent allowance Rs. 6,000 p.m. actual rent paid by him Rs. 8,000 p.m.

7) Mr. Sudhir has contributed 14% of his salary towards RPF and equal amount
contributed by the company

8) Interest credited to RPF Rs. 10,000 @ 10% p.a.

9) Professional tax paid by Mr. Sudhir Rs. 200 p.m.
Compute his income from salary for the A.Y. 2023 — 24.
(Ignore alternative tax Regime U/S 115 BAC).

8¢ BoRET'TITO BOYW LN TT XYZ OO e0iin, eNoIRNTRT. Qw0
2022 — 2023 & BOWoRATIOZ T ST DIV, B3 FINT0Z QeRTOTT.

1) e IS )8 donshd dr. 21,000

2) éo&i 2335 Bﬁdg ROWTT Ton=ond Tr. 10,000 T,8 donsd

3) WpeSxF 2 30N WRVBESI

4) B D, W, YR, T8 Sorishd T@ Forbart TR, 700 S03 BT IFIR QBN

5) S8 D, BF FVIT 33,01 T8 Soned T8 Fordar 8. 500 303 BT
S0BY QeTBONGS

6) S PR 333, . 6,000 B, Soner (3,8 Sone §x wean TBE . 8,000)

7) SedcBe. 14 0%, 303 8¢ BT TITH RPF K Toassacmnd Sx) 300
808 &3 3R3T BroRwy RPF amdr momeads

8) RPF 393r wanniieosd w@ gdn. 10,000 3e. 10T W&, aelnler]

9) K8 éaﬁodsm B¢ ROETTRIT Br. 200 I,& Sonent "ﬁa’afumd’

2023 — 24 T 301t IRFE FOWORATOZ BRWT eSS LTWOIT, FORLBOWD.
(115, BAC o %,5900 wi® 301 F&Oﬁ:&'bm E)QJF“&,?J)

Mrs. Sharmila is the owner of house property in Mumbai. Her property income
details are as below during the P.Y. 2022 — 23.

Particulars House | %) House Il })
Nature of use LOP LOP
Municipal value 24,000 30,000
Fair rental value 25,000 28,000

Annual value 36,000 ~..2) 48,000
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Standard rent
Unrealised rent
Vacancy period
Repair
Municipal tax paid by tenant
Interest on loan :

for repairs to HP

for Construction
Unrealised rent allowed in the
year 2021 — 22 recovered during
the P.Y. 2022 - 23

22,000
2,000

500
2,400

5,000

4,000

AN RO

25,000

One month
2,000
2,300

3,000

Compute income from house property for the A.Y. 2023 — 24.
9,808 FOFFRTTTY WA00WONY, FoFNY BROFTINGTT. TrogoR0 JHRF

2022 — 2309 5330 3 SE0dT 2T 8 FENT08T.

TS T | (Sr.n¥Q)
&I evIodeens oed iR mxﬁa
oY SP, 24,000
99, 0ITOT OB :ﬁae}é 25,000
WONFT m“a@g 36,000
QOFH SR RN 22,000
SnOsteReds woar 2,000
B0 2599 9T B[ -
o0 500
TR SON ToWSATWRTL BRI 2,400
TOT eI WE

RO TN 5,000

O AIRFEIFTYN -
2021 — 22 09 SnQesdeanieyd
WG WS, TN 2022 — 2309,
cefefevelontata] 4,000

301 I 2023 — 24 § SHDIBS T0F TeDH Forobaowd. | i Lo/ 1))

0% 1l (Sr.09Q))
apleTal m:sa;
30,000

28,000

48,000

25,000

0T gonsd
2,000

2,300
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10. From the following information submitted by Mrs. Supriya for the previous year
2022 — 23, calculate income from salary for the A.Y. 2023 — 24.

1) Basic salary Rs. 40,000 p.m.
2) Dearness allowance forming part of salary 60% of basic
3) Bonus 15,000 p.a.
4) Employer and employee contribution of RPF is 15% of salary
5) Interest credited to R.P.F. is Rs. 12,000 @ 12% p.a.
6) Professional tax paid by Mrs. Supriya Rs. 150 p.m.
)

7) She is provided with a car less than 1600 CC by the employer both for
personal and official use. All the expenses of the car including salary of
driver paid by the employer.

8) Company has provided her an accommodation in Bangalore and cost of
furniture provided Rs. 40,000.

9) Free telephone installed at his residence Rs. 6,000.

3,62308 RO, 030THTO eRTOT BETOR BAEF 2022 — 23 Je TOT JeBI ST
RRTT THT00D0T 2023 — 24 Fe 30N [RFT JSY STOOT mqwa;i
FOBOILROD.

1) Sowee $e3T twe. 40,000 ,8 Sonent
2) 0, zde'i Q3,8 Bowdd LIOINTONT BORVIESIT 3e. Goda’%
3) ¥nesx® 8r. 15,000 =8 TR

4) VTSR NS 08 GuEin,eh [T RPF a33r Se. 15 0w Fowds Sngmay
TRWEATRT.

5) R.P.F. 293 20 030 %W N3O de. 12,000 3e. 128 w%cﬁcﬁcfo@.
6) Ro,0TRTO de. 150 T8 sonent db% 3on mas’é&m%d

7) 1600 CC momdg uths 5900, BomR030 e3ed 3080 308 evmednensond
QeRT. TOT DY Fg, T WVTS SeSTHY, FOTACKD TBWERZT.

8) BOTICIN LONTROTE) LR T&3 TOFOR, VeRT =B 8. 40,000 TP,RY,
2CBRCTTTLD VERT. eSO\
9) SOFODNY, L3 TRTTOES ALY, VEBULNTIT &8 dre. 6,000.
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11.  Mr. Shrimani furnished following details of his income from house property for
the previous year 2022 — 23. Compute taxable income from house property
for the A.Y. 2023 — 24.

Particulars House | House Il House Il

(SOP) (LOP) (LOP)
Municipal value 60,000 80,000 90,000
Actual rent p.m. - 7,000 8,000
Fair rental value 65,000 72,000 95,000
Standard rent - - 80,000
Unrealised rent - 5,000 -
Vacancy period — one month -
Repairs 2,000 3,000 -
Ground rent 5,000 2,000 1,000
Interest on loan taken for business 12,000 - 5,000
Municipal tax paid by tenant - 4,000 -
Municipal tax due 4,000 - 12,400

&,ee30e303053T 2022 — 23Fe TOT 0T ST TOLOHAT TN VWS 3 F$NT0ST.
€330 30N LT sOTOD ST HRTRT) 2023 — 24 Je Sor RF G FOLORRTIOZ

B0TIEGROWD.
Q3 o1 Sl =

(%03%) (2RAR) (:&B1RR)
o= SR, . 60,000 80,000 90,000
3% woant T8 Sonw - 7,000 8,000 o
3, 0T WRRT IR, 65,000 72,000 95,000
ROFHRRS worrt - - 80,000
SNOTTEANRPORTT LB - 5,000 -
TS $0O0T [ — 208 &onsd -
(avler 2,000 3,000 -
e30n 5,000 2,000 1,000
B, Se08000 BB T FoedS wB, 12,000 - 5,000
QTR Bor wRBRT TBEXT, - 4,000 -

TOWSAIRNT PYoRYe 301 4,000
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
COMMERCE
DSC 13 : Financial Management

Time : 22 Hours Max. Marks : 60

Instruction : Answers should be written completely either in English
or in Kannada.

SECTION - A

Answer any six sub-questions. Each sub-question carries two marks. (6x2=12)

)

a) What is doubling period ?

b) If sales are ¥ 8,00,000; Contribution T 6,00,000. Calculate variable cost.
c) What is accept and reject criteria in N.P.V. ?

d) Mention four factors influencing working capital.

e) Mention the techniques to calculate time value of money.

f) What is wealth maximisation ?

g) What is meant by financial mix ?

h) Investment ¥ 20,000; Salvage 15%; Additional working capital — ¥ 2,000.
Calculate average investment.

- SECTION - B
Answer any three questions. Each question carries 4 marks. (3x4=12)
2. Explain the different methods of investment evaluation ?
3. Explain scope of financial management.
4. Mr. Ravindra deposits ¥ 10,000 at the beginning of each year for 4 years at
12.5% p.a. interest. What is the future value after 4 years ?
5. Calculate three types of leverages :
Sales % 4,00,000
Variable cost 25%
Fixed cost % 75,000
Tax rate 50%
15% debentures ¥ 50,000
6. What are the advantages of adequate working capital ?

P.T.O.
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SECTION-C
Answer any three questions. Each question carries twelve marks. (3x12=36)
7. Explain the characteristics of a sound financial plan.
8. a) Explain the sources of working capital.
b) Explain the functions of finance manager.
9. The balance sheet of a company is as follows :
Liabilities Amount Assets Amount
4 C§
Equity shares 6,00,000 Fixed asset 15,00,000
of ¥ 10 each
10% debentures 8,00,000 Current asset 5,00,000
PandL Alc 2,00,000
Creditors 4,00,000
20,00,000 20,00,000

The Company’s total assets turnover ratio is 5 times. Its fixed operating expense

are ¥ 10,00,000 and variable cost is 30%. Income tax rate is 50%.
Calculate the level of EBIT if EPSisa) 2, b) 3, c) 4, d) 5.

10. Rakshita Ltd. is considering the purchase of machinery. Two machines are
available, each costing ¥ 1,50,000. In comparing the profitability of these two
machines at a 10% discount rate is to be used. Earnings after tax are expected

to be as follows :
Cash inflows :

Year Machine A Machine B
< X

1 45,000 15,000

2 60,000 45,000

3 75,000 60,000

4 45,000 90,000

5 30,000 90,000

You are also given the following information :

Year 1 2 3 4 5

PVof¥1at10%dis. 0909 0.826 0.750 0.683 0.621

Calculate the proposal under Net present value method.
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11. Rahul Ltd. has 30,00,000 equity shares of ¥ 10. The company wants to raise
another 15,00,000. These are the different financial plans. Tax rate is 50%.
i) All debentures carrying 10% interest
ii) All equity
iii) 10,00,000 in equity shares and ¥ 5,00,000 in debenture carrying 10% interest.
iv) 5,00,000 in equity shares and 10,00,000 in 10% preference shares.

Calculate EPS if EBIT is X 6,75,000.
@ U
PN - :
CIRNFTTTR & GUT-T,FNVN LVZOR. Bd GVH-T, IR QTS SNV, (6x2=12)

~ 1. a) QHRRIRLT BB DT ?
b) =503 X 8,00,000; 207 T 6,00,000 WHRMO 5&% FOBO&EOWD.
C) 333;%3 X7 aijaeszs (NPV) @9, A eFOROT 2B 35&;@1‘0&3 DRITOBRNSD CINRR)) ?
d) F0RFITE WOBTYT ROeS )20 LTI ToL), BOBNTRY, LG eDA.
e) Trats BROODT VPV, T/, ST BRWT o8, NY) R
f) oz rio%ﬁm@ﬁo&% R0TITED ?
g) TEITAT 0T, 00T BPF R0 7
h) odrexsod meid T 20,000; uod ab’at:% 15%; @0 ToeF VTS WOBTY
32,000 nvamon R09E0 TRRE QT ?
QYN - W
CARPYTTTR TR T3 e vgoR. I8 T 4 wosnsb. (3x4=12)
2. BRRE aﬂ:’?«@d CTTED WRTI® amdﬁ@é@t EQR.
® 3. TEOTIAT AWFHEOID 339, & 0T, 0.

4. §,¢ Te0T, TR &, I[RFT ©003nQ, X 10,000 &3, 4 JRFMVITN, W& 12.5% p.a.
Pea3ed WRRW) TV, IR T S0BT W0FIDT VR, 2R ?

5. SRR 4,00,000; BRI 503, 25%; %dﬁz% 3 75,000; 3078 300, 50%; 3e. 15
o B, X 50,000. 0080 B, 500 O30 =), TOmERAA0.

6. TOTZ) FToOF VTS WORTOPT HTOTRONT AT 2

ed
IR - A
CIRTYTTTUL SRt B, INert LBoR. Bé BT 12 wosnsh. (3%x12=36)
7. U TEDTORD CRERTOI MOPVTLINTIY WRTOA.
8. @) WIFON® T, AWC'T TRVNYTY, VWOR.
b) TR0 wém%md TOORF TR, WWOR.
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AR, Behrieh T8 S0RT 10003 6,00,000 3T 3 15,00,000
10% =o© =3, nwd 8,00,000 30 &3 5,00,000
SDIARAS ﬁﬁwmé 2,00,000
TOOMTTY 4,00,000

20,00,000 20,00,000

10:

i 2

BomROD 2,43, 58 Teae 5 Ted); 48 TOPFTY T 10,00,000; eoFeRrHS3 3 30%,
3ot 336 - 50%. EPS ) 2, b) 3, c) 4, d) 5. 533 EBIT abuEa dams.

T$3o FOTIOKD TR aI0T, NYSY, 0eDILD ATFOROTYT. 003, T [ 23 ©
2 ,50,000. epypo3T c;-sr::*dcj Boeed QOB odaoa‘ nen 10% Nmaodaab
VTodReNRT.
30N 080T NEFoD 33 FPNT08T :
SNOT we¥TOFR)
SR o103, A ooz, B
X 4
1 45,000 15,000
2 60,000 45,000
3 75,000 60,000
4 45,000 90,000
5 30,000 90,000
BRETO ks @
D&EF 1 2 3 4 5

PV ofX 1 at 10% Zre& 0.909 0.826 0.750 0.683 0.621
ITF TR0 ﬁa%ﬁ&; FOBI&BOD.

TR FoTRODY, 30,00,000 TR, Fedonish T 10 Todsk. =0 Fomod0 BT

WoBmYwon 15,00,000 cimmocoﬂ@;mq TBODEL ITFOATS. FOTIOID DT Do

BeagoRd cdreod Je. 50 TR 301t TOTY,

i) 2R TOTE N Je. 10 WRCI0E.

i) &R AOTT, Jeddnisd.

iii) 10,00,000 wms e,  5,00,000 TomE, Je. 10 8 wROH0S.  FiEix

iv) 5,00,000 TB5, Bedo 302 10,00,000 = mm Becortso Fe. 10% B s
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
TOURISM AND TRAVEL MANAGEMENT
Paper — 5.1 : Financial Management

Time : 2%2 Hours Max. Marks : 60

1

Instruction : Answer all the questions in English.
SECTION - A

Answer any six questions out of eight. Each question carries two marks. (6x2=12)
a) Who is a financial analyst ?

b) Define financial management.

c) Which are the techniques of time value of money ?

d) Give the meaning of earnings per share.

e) Define capital budgeting.

f) What is inventory management ?

g) Cost of machinery is ¥ 1,00,000 and cashflows for the first 3 years are
¥ 30,000, ¥ 45,000 and ¥ 50,000. Express the PBP in terms of years.

h) Mention the motives of holding cash.

SECTION - B

Answer any three questions out of five. Each question carries four marks. (3x4=12)

2.

3.

Explain the factors determining working capital management.

What are the steps involved in financial planning ?

. Calculate present value of ¥ 10,00,000 to be received after 5 years from now

assuming 6% time preference for money.

. A firm has sales of ¥ 10,00,000, variable cost ¥ 7,00,000 and fixed cost of

¥2,00,000 and debt of ¥ 5,00,000 at 10% rate of interest. What are the operating,
financial and combined leverages ?
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6. A project requires an investment of ¥ 5,00,000 and has a scrap value of ¥ 20,000
after five years. It is expected to yield profits after taxes during the five years
are as follows. Calculate the average rate of return.

Yr 1 2 3 - 5
a/minX 40,000 60,000 70,000 50,000 20,000

SECTION -C

Answer any three questions out of five. Each question carries twelve marks. (3x12=36)

7. What is working capital ? Explain the dangers of excessive working capital and
also inadequate working capital.

8. Briefly explain the role of finance manager in India.

9. The capital structure of the Progressive Corporation Ltd., consists of an equity !
shares capital of ¥ 10,00,000 (shares of ¥ 10 per value) and X 10,00,000 of |
20% debentures. The sales increased by 25% from 2,00,000 units to 2,50,000
units. The selling price is ¥ 10 per unit variable costs amount to X 6 per unit
and fixed expenses amount to ¥ 2,50,000. Income tax rate is assumed to be
50%. You are required to calculate the following :

a) The percentage increase in EPS.

c) The degree of financial leverage at 2,00,000 units and 2,50,000 units.
d) The degree of combined leverage at 2,00,000 units and 2,50,000 units.

10. ‘SK’Ltd., is considering the purchase of machine. Two machines X’ and ‘Y’ each
costing ¥ 1,00,000 is available. In comparing the profitability of these machines
a discount rate of 10% is to be used. Earnings after taxes are expected to be
as follows :

Year 1 2 3 4 5
Machine ‘X’ 30,000 40,000 50,000 30,000 20,000
Machine Y’ 10,000 30,000 40,000 60,000 40,000
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RN 5=
The following are present value factors at 10%.
Year 1 2 3 4 5
P-V factor at 10% | 0.909 0.826 0.751 0.683 0.621

11.

Evaluate the proposal under :
1) The payback period
2) The accounting rate of return

3) The net present value.

‘XY’ Company Ltd., is desirous to purchase a business and has consulted you.
You have to advise them about the average amount of working capital which

will be acquired in the first year.
Particulars

a) Amount blocked up for stocks :
Stock of finished product
Stock of stores materials etc.

b) Average credit given

Inland sales — 6 weeks credit
Export sales —1%2 weeks credit
c) Delay/lag in payment of wages and other outgoings

Wages — 172 weeks

Stock of materials etc. — 12 months

Rent, royalties etc. — 6 months

Clerical staff — %2 month

Manager salary — %2 month

Miscellaneous expenses — 12 month
d) Payment in advance

Sundry expenses (paid quarterly in advance)

e) Margin for contingencies

Amount for the year

5,000
8,000

3,12,000
78,000

2,60,000
48,000
10,000
62,400

4,800
48,000

8,000
10%
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V Semester B.Com. (Tourism and Travel Management)
Examination, February/March 2024
(NEP) (Freshers)
COMMERCE
Paper - 5.2 : Income Tax Law and Practice - |

Time : 22 Hours Max. Marks : 60

Instruction : All the answers to be written in English only.

SECTION - A
. Answer any six sub-questions. Each sub-question carries two marks : (6x2=12)

1. a) What is agricultural income ?
b) What do you mean by gross total income ?
¢) Who is an ordinarily resident individual ?
d) What is unrealised rent ?
e) Expand CBDT and PAN.
f) State any two exempted income u/s 10 of Income Tax Act.
g) List out any 2 deductions u/s 80 C.
h) State the tax provision u/s 80 DD.

SECTION - B

Answer any three questions. Each question carries four marks : (3x4=12)

2. State whether the following are agricultural income or not.
a) Income from sale of flowers and creepers.
b) Income from agriculture in Gujarat.
c) Sale of plant from nursery.
d) Income from poultry farming.

3. Mr. Chethan went to England for Employment on 5" August 2022 and came
back to India on 25™ March 2023. He had never been out of India before. What
is his residential status for the Assessment year 2023-2024 ?__

ik

e _"_'.Zt - 5\\
i | TN
e sl
1 i

P.T.O.

[ =]
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4. Determine the NAV for the Assessment year 2023-24 :

Particulars Amount in
a) Municipal rental value 1,00,000
b) Fair rental value 90,000
¢) Actual rent p.m. 10,000
d) Unrealised rent 10,000
e) Municipal tax paid 15,000
f) Standard rent 1,10,000

5. Mr. Safar (resident) an employee of ABC Lid., retires from his service on
16" January 2023 after serving for 36 years and 6 months. He receives X 97,000
as gratuity under Gratuity Act at the time of retirement his basic salary was .
Rs. 2,300 p.m. and DA was Y 400 p.m. Calculate the taxable amount of gratuity
for the assessment year 2023-24.

6. From the following details of Mr. Akhilesh. Calculate the amount of deduction
available u/s 80 C to 80 U.

i) LIC premium paid X 12,000

ii) Purchase of NSC worth ¥ 6,000
iii) Donation to a recognised educational institution X 6,000
iv) Medical insurance premium paid X 5,000.

SECTION -C
Answer any three questions. Each question carries twelve marks : (3x12=36)
7. From the following particulars of Mr. Prashanth compute gross total income for .

the assessment year 2023-24, if he is ordinary resident, not ordinary resident
and non-resident.

a) Received T 20,000, in India, which accrued in England.
b) ¥ 10,000 earned in India but received in England.
c¢) ¥ 50,000 earned and received in Africa but brought to India.

d) ¥ 10,000 earned and received in Japan from a business which was controlled
and managed in Japan.

e) ¥ 16,000 untaxed income of earlier years brought into India in the previous
year.

f) Interest on fixed deposit in SBI, Bangalore T 12,000.
g) Agricultural income in Africa received in India ¥ 10,000.
h) Dividends received in UK from an American Company ¥ 10,000.
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i) Salary income for 3 months for working in Indian embassy office in Australia
and received there ¥ 72,000.

J) Income from house property in Mumbai ¥ 1,00,000.
k) Interest received on POSB A/c ¥ 1,000/-.
I) Gift from relatives ¥ 80,000/-.

8. Ms. Sabeena who is working in SCC company gives the following particulars :
a) Basic salary X 16,000 per month
b) Dearness allowance % 2,000 per month (60% enters into retirement benefits)
¢) HRA X 5,000 per month (rent paid in Bengaluru is ¥ 7,000 per month)

d) Conveyance allowance < 800 per month (X 600 per month used for official
purpose)

e) CCA <X 150 per month

f) Motor car of 1600 CC with driver provided used for both official and personal
purpose all expenses met by the employer

g) Payment of LIC premium by company X 8,000
h) Children education allowance of ¥ 200 per month each for 2 children

i) She contributes 14% of her salary to RPF and the company makes equal
contribution. Interest credited to RPF is ¥ 6,875 @ 12.5%. Compute her
income from salary for AY 2023-24.

9. From the following particulars of H.P. of Sri Jayanth (Resident). Compute his
income from House property for the AY 2023-24.

Particulars | House Il House Il House IV House
Municipal value T 80,000 390,000 2,00,000 ¥240,000
Annual rent - - ¥ 3,20,000 < 3,00,000
Local taxes paid % 16,000 318,000 T 40,000 T 48,000
Repair charges % 10,000 - ¥ 30,000 -
Insurance premium T 500 31,500 % 2,000 % 5,000
Interest on loan for

construction 11,800 - 318,000 T 42,000
Unrealised rent - - % 5,000 =

Vacancy period - - 2 months =




NP - 502 4 RO A

10. Mrs. Binila is the manager of M.S. Ltd. Mumbai has furnished the following

VE

details of her income for the year ended 31 March 2023.
a) Basic salary ¥ 21,000 per month.
b) Bonus — 2 months basic salary.

c) Commission is 3% of sales. During the year she reached a sales target of
¥ 5,00,000.

d) Dearness allowance forming part of salary ¥ 7,000 per month.

e) Medical allowance X 1,400 per month.

f) Entertainment allowance X 3,000 per month.

g) Children hostel allowance for her two children at ¥ 500 per month per child.
h) RPF — company contribution ¥ 6,000 per month.

i) RPF own contribution ¥ 5,000 per month.

j) Interest on RPF at 12% 48,000 per annum.

k) She has been provided rent free accommodation at Mumbai who fair rental
value is ¥ 10,000 and cost of furniture is ¥ 60,000.

I) She paid professional tax ¥ 2,400.
Compute her taxable income from salary for AY 2023-24.

Mr. Manu is the owner of the following house in Bangalore and the particulars
of which are relating to the previous year 2022-23.

Particulars | House Il House lll House
Municipal value ¥1,20,000 ¥1,32,000 31,44,000
Fair rental value % 1,50,000 ¥ 1,60,000 % 1,75,000
Standard rent %1,44,000 ¥ 1,50,000 ¥ 1,60,000
Nature of use LOP LOP SOP
Rent per month ¥ 15,000 318,000 -
Municipal tax

2021-22 ¥ 6,000 36,600 =

2022-23 312,000 313,200 T 14,400
Unrealised rent ¥12,000 20,000 -
Interest on loan ¥ 45,000 % 60,000 % 2,25,000
Vacancy period (month) 2 - -
Year of completion 2019 2018 2016

Compute taxable income from house property for the AY 2023-24.
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V Semester B.Com. Examination, February/March 2024
(NEP Scheme) (Freshers)
TOURISM AND TRAVEL MANAGEMENT
Paper —- 5.3 : Heritage Management

Time : 2%z Hours Max. Marks : 60
Instruction : Answer all the questions in English.
SECTION - A
) Answer any six out of eight questions. (6x2=12)

1. a) Write any four objectives of heritage management.
b) How many world heritage sites are there in India ?
c) What is heritage marketing ?
d) Name any two world heritage sites in India.
e) Mention any four important festivals of Karnataka.
f) Who is the founder of ASI ?
g) Expand UNESCO.
h) Name any two types of heritage property.

® SECTION B
Answer any three out of five questions. (3x4=12)
2. Discuss the role of ICOMOS in heritage management.
3. Explain the features of Tangible and Intangible Heritage.

4. Describe the types of heritage property. /

5. Narrate the importance of heritage management.

6. Explain a few objectives of heritage management. N

P.T.O.
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SECTION-C
Answer any three out of five questions. (3x12=36)
7. Explain the functions of ASI and circles and sub-circles in India.
8. Write a detailed note on the conservation manuscripts.
9. Write a short note on UNESCO convention for the protection of cultural property.
10. What is heritage ? State its objectives and scope of heritage management. .

11. Explain the various classification of heritage hotels with examples. Also write
a note on heritage hotels in Karnataka.
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
TOURISM AND TRAVEL MANAGEMENT
Paper — 5.4 : Global Tourism Geography

Time : 2% Hours Max. Marks : 60

1.

Instruction : Answers to be written in English only.
SECTION - A

Answer any six questions out of eight. Each question carries two marks. (6x2=12)
a) What is Geography ?

b) What is Elapsed time ?

¢) What is grounding time ?

d) Mention the climatic regions in Europe.

e) What is latitude ?

f) List any 2 transport systems of the World.

g) List any 4 tourist destinations of Europe.

h) What is daylight saving time ?

SECTION - B

Answer any three questions out of five. Each question carries four marks. (3x4=12)

2.

. Write a note on the transport network of Asia.

Explain the elements of Geography.

. Write a note on climatic regions of Europe.
. Explain the time zones of the World.

3
4
5.
6

List down the IATA three letter city code of any 10 international airports.
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SECTION-C

Answer any three of the following. Each question carries twelve marks. (3x12=36)

7. Comment on the importance of Geography in Tourism.

8. Write a note on areas, sub-areas and sub-regions as per |IATA.

9. Explain the physical geography and topography of Australia.
10. Discuss the popular tourist destinations of Europe and Africa.

11. Differentiate between latitude and longitude.
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V Semester B.Com. Examination, February/March 2024
(NEP) (Freshers)
TOURISM AND TRAVEL MANAGEMENT
5.5 : Front Office Management

Time : 2% Hours Max. Marks : 60

Instruction : Answer all the questions in English.

SECTION - A

. Answer any six questions out of eight. Each question carries two marks. (6x2=12)

y 5

2.

3
4.

o

a) Name the types of hotels.

b) What do you mean by guest cycle ?

c¢) Write a note on wake-up call.

d) List out any four responsibilities of a cashier.

e) Mention the contents of GRC.

f) What do you mean by VIP procedure ?

g) What do you mean by front office management ?

h) Give examples for time share accommodation.

SECTION - B

Answer any three questions out of five. Each question carries four marks. (3x4=12)

Enlist any four desirable qualities of a concierge.

. Write a short note on Front Office Cashier.

What is front office ? Draft the lay out of the front office of a 5 star hotel.
Briefly explain night auditing procedure of a star hotel.

Write about various types of reservation.
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SECTION-C
Answer any three questions out of five. Each question carries twelve marks. (3x12=36)

7. Draw an organization chart of front office department. Explain role of lobby
manager.

8. Explain the duties and responsibilities of a general manager in a hotel.

9. Discuss the inter-departmental co-ordination between front office with other
departments.

10. Explain five front office terminology giving suitable examples.

11. Explain the procedures followed in handling mail and messages under
concierge service.
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V Semester B.Com. (Voc.) Examination, February/March 2024
(NEP Scheme) (Freshers)
TOURISM AND TRAVEL MANAGEMENT
5.6 (A) : Tour Guiding and Interpretation

Time : 2% Hours Max. Marks : 60

Instruction : Answer all the questions in English.

~ SECTION - A

Answer any six questions out of eight. Each question carries two marks. (6x2=12)
1. a) What is tour escorting ?
b) Mention any four attributes of a tourist guide.
c) Whatis an itinerary ?
d) Mention the language aspects of tour guiding.
e) What is situation handling ?
f) Mention the four responsibilities of tour guide.
g) What do you mean by heritage walk ?
h) Mention any four practical tips of tour guiding.

SECTION -B
®
Answer any three questions out of five. Each carries four marks. (3%x4=12)

2. Give a brief note on the dynamics of tour guiding.

3. What are the practical aspects of guiding
a) atacoach ?
b) ata museum ?

4. What are the steps in setting up tour guiding business ?
5. Analyse the importance of tour guiding and its impact on attracting tourist.

6. Comprehend the skills required for tou;:guiding profession.

P.T.O.
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SECTION -C
Answer any three questions out of five. Each carries twelve marks. (3x12=36)

7. Comprehend the practical aspects of tour guiding on an :
a) Archaeological site
b) Nature walk
c) Religious site
d) Monument.
8. Describe the mechanics of tour guiding and tools of trade.

9. Give a brief note on situation handling.

10. Explain the Code of Conduct for tour guides in India — (MOT). ST
11. Explain the role of tour guiding business in tourism development. { Efrhﬂ )
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